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Title:  Termite Lab

Overview: The termite is a parasite of almost every type of wood in North America.  Although the termite is able to ingest different types of wood, it cannot break down the cellulose, but instead relies on its’ symbiotic relationship with the spirochete bacteria and the trychonymps.

Purpose:  To investigate and locate the trichonymps, whose symbiotic relationship with spirochete bacteria is responsible for the breaking down of cellulose.

Materials / Methods: In order to perform this lab, one must first obtain a piece of wood that is probable to contain termites.  Once termites are found, a slide with a couple of drops of water on it is needed along with a dissecting microscope.  A pair of forceps and a probe is needed to remove the digestive tract of the termite.  This is done by pressing down on the head/body of the torso and applying light pressure to the darker digestive tract with two probes.  Finally, a cover slip is needed to be placed over the specimen and with light pressure, the digestive tract bursts open.

Procedure:  The termite must be obtained and placed on a microscope slide with a couple drops of water.  Next, the specimen is placed under the dissecting microscope and the digestive tract is removed.  Finally, a cover slip is placed over the specimen and is placed underneath the compound microscope under a 40x magnification.

Results:  Although there was not a great abundance of trichonymphs, one specimen was found throughout the entire lab.  There were two apparent flagellum that were present, and the nucleus was in clear view.  However, at 40x magnification, the spirochete bacteria were not seen.

Discussion:  The termite is a pale-colored, insect with a soft body.  It is in the order known as “Isoptera” and lives in mostly warm climates.*  Although the termite feeds on wood, it does not, however, digest the wood that it ingests.  In the digestive tract of the termite dwell Trichonymphs, which are small organisms that share a symbiotic relationship with spirochete bacteria.  Due to the presence of the spirochete bacteria, the cellulose that the termite ingests is broken down by means of the enzyme cellulase.

Conclusion:  In conclusion, the trichonymphs are not as abundant in quantity as one would exepect.  After careful observation, a trychonymph was found.  The flagellum were easily seen, yet the spirochete bacteria, which are responsible for the breakdown of cellulose, were not able to be found with such a small magnification.

*www.dictionary.com

